İNDİCATOR BUİLDER FORMULU
AET:=Mov(W,22,e); a2:=AET-ATR(5); a3:=AET+ATR(5);
b1:=If(AET<PREV,a2,if(a2>PREV,a2,PREV)); b2:=If(AET>PREV,a3,if(a3<PREV,a3,PREV));
k1:=Cross(AET,Ref(b2,-1)); k2:=Cross(Ref(b1,-1),AET);
s1:=BarsSince(k1) <BarsSince(k2);
s2:=If(s1=-1,b1,b2);
AET;s2

SYSTEM TESTER AL FORMÜLÜ
AET:=Mov(W,22,e); a2:=AET-ATR(5); a3:=AET+ATR(5);
b1:=If(AET<PREV,a2,if(a2>PREV,a2,PREV)); b2:=If(AET>PREV,a3,if(a3<PREV,a3,PREV));
k1:=Cross(AET,Ref(b2,-1)); k2:=Cross(Ref(b1,-1),AET);
s1:=BarsSince(k1) <BarsSince(k2);
s2:=If(s1=-1,b1,b2);
AET>s2
SYSTEM TESTER SAT FORMÜLÜ
AET:=Mov(W,22,e); a2:=AET-ATR(5); a3:=AET+ATR(5);
b1:=If(AET<PREV,a2,if(a2>PREV,a2,PREV)); b2:=If(AET>PREV,a3,if(a3<PREV,a3,PREV));
k1:=Cross(AET,Ref(b2,-1)); k2:=Cross(Ref(b1,-1),AET);
s1:=BarsSince(k1) <BarsSince(k2);
s2:=If(s1=-1,b1,b2);
AET<s2
